Practice Problems for Arithmetic
from www.topmath.info

1 Whatis 6 +1?

2 What is 196 + 77

3 Elaine has 7 toy cars. If Elaine then sells 3 of the toy cars and buys 4 more, how many toy
cars does Elaine now have?

4 If you multiply X by 1/4, and then multiply again by 16, the result is 102. What is X?

5 Elaine is 10 years old. Elaine's aunt is 24 years older than Elaine. How old will Elaine's
aunt be in 21 years?
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6 Some blenders that normally sell for $37.99 have temporarily had their price lowered by

$5.60. How much would it now cost to buy 47 of them?

7 Whatis9+32/47

8 What is 96 - 61 x 68 ?

9 Whatis 0 + 197

10 What is 56 + 657
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11 What is 25 - 67

12 What is 122 - 437

13 Whatis 12 x 4?7

14 What is 82 x 2?7

15 Whatis 1 +1?

Please e-mail comments and suggestions to: edu@ezlink.com



Practice Problems for Arithmetic
from www.topmath.info

1 ANSWER: 6

2 ANSWER: 28

3 ANSWER: 8. EXPLANATION: Elaine starts with 7 toy cars. After Elaine sells 3 of the toy
cars, only 4 are left. Elaine then buys 4 more, which increases the total to 8.

4 ANSWER: 25.5. EXPLANATION: Note that the denominator of the fraction (4) goes into
16 exactly 4 times. Therefore, multiplying by 1/4 and 16 is the same as multiplying by 4
and 1. We can therefore simply divide 102 by 4 to obtain the answer.

5 ANSWER: 55
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6 ANSWER:

7 ANSWER:

8 ANSWER:

9 ANSWER:

10 ANSWER:
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11 ANSWER: 19

12 ANSWER: 79

13 ANSWER: 48

14 ANSWER: 164

15 ANSWER: 1
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